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Izéj\ 30&%;%1&3#!) 30&%%@?&%) %gl ﬁlli: %
RESE 2,500,000 1,784,215 A715,785 RESZE2HEE 1,817,015
=) #FEDOFIREH E (164004 x 2.0M) 32,800
REESEH%EA(1,776,761M-29,000M) 1,784,215
BiZEE 300,000 197,163| A102,837 BiESE2A%E 283,513
-) EmEME (86,350M) 86,350
B8 5 4 4558 (340,559 -93,440M) 197,163
HEEE 50,000 53,404 3,404 =% NS 53,404
ZDith 10,000 1015 A8,985 TtE EA.FIR 1,015
it 2,860,000 2,035,797| A824,203 (B2 2,154,947)
(BE)VEEDES (B )

Izéj\ 30&%;%1&3#!) 30&%;3@1;&%) %gl ﬁlli: %
Ai~DX{TE| 1,716,000 1,222,000 A494,000 REZE£ND60% (1,784,215%06) 1,070,529
+) BB E 2 M60% (197,163 X 0.6) 118,298
+) BIEEE LD 60% (53,404 X 0.6) 32,043
+) FDMELED60% (1,015 % 0.6) 609
it 1,221,479
(FHEEXEDY EFTetLE +521) 1,222,000
BEHs 1,144,000/ 813,797| A330,203 FEEEDA40% (1,784,215x0.4) 713,686
+) BRIBE L MD40% (197,163 X 0.4) 78,865
+) BIEEELNA40% (53,404 X0.4) 21,361
+) FOMELDA40% (1,015%0.4) 406
it 814,318
(HADXFEFARFBHBOMES -521) 813,797

B 2,860,000| 2,035,797 A824,203
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IR A (Ef:[)
X5 ERIOEETE| FRIOEERE | £EIGRE-FH) & =
T ET AT 1,225,000 1,225,000 0| £%E (ATEEER)
Xt 2,040,122 x #960%= 1,225,000
FIA 9 9/4M+5M
by A 576,763 576,763 0
it 1,801,763 1,801,772
X H (B M)
X7 ERIOFEEFE| FRIOEERE| 25 GRE-FH) & =
[R# & 1,100,000 1,034,756 A65,244
BA 1,100,000 1,034,756 A65244|(FERLS0EE 1944)
i Fkit 545 226,092
FERIE 1444 808,664M
N 0 0 0
B’HEE 80,000 52,264 A27,736
B E 60,000 38,440 A21560| REZERIEA/NNIX UF
FHH 20,000 13,824 A6,176|3RA FHUE
ERE 55,000 38,880 A16,120
FNRI & A 40,000 38,880 A1,120| B & AEHE
HEM 15,000 0 A15,000
wHEE 300,000 163,000 A 137,000
300,000 163,000 A137,000|14 163,000 (& EMH)
AGEE 218,000 0 A218,000
== 180,000 0 A180,000| A BDREENEH# TH - -OEHBRE
REEF 38,000 0 A38,000
EAR 0 0 0
0 0
ZDith 0 0 0
0 0 0
FliE& 48,763 0 A48,763
48,763 A48,763
heE 0 512,872 512,872
0 512,872 512,872
0
H 1,801,763 1,801,772 9




